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the pulsation of the current ensuring an active power at half of the maximum power     
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the bandwidth of the circuit  
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final result:  1510 −⋅= sradω ;  Hzf
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II.c. For: 
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Observation: in the expression above, A , M , N  and δ  are constants that must be determined 

using initially conditions ( Vu 400 = , Ai 1,001 = , Ai 2,002 = ) 
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Observation:  an identity as DCBA +⋅≡+⋅ αα coscos is valuable for any value of the 

argument  α  only if CA = and DB =  
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the numerical value of the electrical tension on the jacks of the circuit    VA 2640=               0.1p 
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Observation:  the currents through the coils are the superposition of sinusoidal currents having 
different amplitudes and a direct current passing only through the coils.  

the direct current AI 1,00 =                                                                                                         0.1p 

the alternative currents through the coils 
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the currents through the capacitors 
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final result: Aarctgti
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II.d. For: 

the amplitude of the current through the inductance  
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